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ΕΝΟΤΗΤΑ :    Παραγοντοποίηση  

 

Τάξη : Γ  Γςμνασίος.                                                                      Καθ. Φπήστορ Μοςπατίδηρ  
Όνομα Μαθητή :…………..…………………………………………   Ημ/νία :……………………. 

 

Να παραγοντοποιήσετε τις παρακάτω παραστάσεις 

Άσκηση 1 

     1) 5x5y2 - 10x4y3 + 5x3y4          2) x (2α - β) + y (β - 2α)  

 3) α (x - 1) - x + 1             4) 7 (x + 2) (y - 3) - y + 3 

       5)4 (α - 3β) (3x - y) + 5 (3β - α) (x - 3y)    

         6) α2 (x - 1) (α + β) + α2 (1 - x) 

Άσκηση 2 
 

     1) x2 + xy - x – y     2) 3α3 - 6α2 + 5α - 10 

 3) 5x3y - 2x2y2β + 15αx - 6αβy    4) 8xy3 - 24y2 - 7αxy + 21α 

 5) x3 - xy + x2y2 - y3            6) 3ω3 - 7ω2 + 3ω - 7 

Άσκηση 3 

 

   1) ρ2ω2 - 121       2) 81α2 - 49β2 

 3) 4α4 - 9β2        4) α2β2 - γ2 

 5) 20α3x3 - 5αx            6) 3x2 - 5  

 7) 
9

yx 22

 - 
4
1      8) (α - 2β)2 - 4β2 

 9) (4x + 2y)2 - (2x - 3y)2   

   10) 25x2 - 110x + 121              11) x2 + 24x + 144 

12) 4α2y2 - 12αβy + 9β2        13) α2y4 + 2αβ2y2 + β4 
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 14) ω3 - 2ω2 + ω                15) α2 + 2αβ + 
4

β2

 

 16) x2 - x + 
4
1      17)  x2 - 4x3 + 4x4   

                             
 

18) (5α2 + 2α - 3)2 - (α2 - 2α - 3)2 19) 9(2x + 1)2 - (4x - 1)2 

 

 

Άσκηση 4 
 

     1) α4 + α2β2 + β4    2) x3 - 9x + 2x2y - 18y 

   3) x4 + 5x2y2 + 9y4           4) α2 - 2αβ + β2 - α + β 

   5) (5 - 3x) (x + 4) + (3x - 5) (2x - 3) + 9x2 – 25 

   6) (x - 2)2 (3x - 1) - 9 (3x - 1)  

   7) (x2 - 9)2 - (x + 5) (x - 3)2 

 

Άσκηση 5 

 

1)  (ω2 - 4)2 - (3ω - 2) (ω + 2)2    2) ω4 - α4 - α2β2 + 2α3β 

3)  (x2 - 1)2 + 9 (x + 1)2 4) (x - α)3 + (x + α)2 (x - α) - 2β (x2 - α2) 

5) α2 + 2αβ - 3β2 = α2 + 2αβ + β2 - 4β2                6) x4 - 5x2 + 4     

7) x2 + 4xy + 3y2 = x2 - 4xy + 4y2 - y2 


